8.   M=Rs
[image: image1.wmf]p


B=R²
[image: image2.wmf]p



      s=
[image: image3.wmf]p

R

M

                                                         B=16²
[image: image4.wmf]p


V=
[image: image5.wmf]3

H

B

×


                                                                           B=256
[image: image6.wmf]p


     s =
[image: image7.wmf]R

320


V=
[image: image8.wmf]3

12

256

×

p


     s=H²+R² 
 V=1024
[image: image9.wmf]p

cm³
    (
[image: image10.wmf]R

320

)²=12²+R²
   
[image: image11.wmf]2

102400

R

 =144+R²  /R²
    102400=144R²+R4
    R4+144R²-102400=0
    R²=t
    t²+144t-102400=0
    D=
[image: image12.wmf]ac

b

4

2

-


    D=
[image: image13.wmf](

)

102400

4

144

2

-

×

-


    D=
[image: image14.wmf]409600

20736

+


    D=
[image: image15.wmf]430336


    D=656
    t½=
[image: image16.wmf]a

D

b

2

±

-


     t½=
[image: image17.wmf]2

656

144

±

-


     t1=
[image: image18.wmf]2

512


     t1=256
      R²=256
      R=16
      s=
[image: image19.wmf]R

320


     s=
[image: image20.wmf]16

320

  
     s=20
_1211219451.unknown

_1211219771.unknown

_1211220118.unknown

_1211220261.unknown

_1211220329.unknown

_1211220475.unknown

_1211220193.unknown

_1211219906.unknown

_1211219946.unknown

_1211219830.unknown

_1211219540.unknown

_1211219681.unknown

_1211219487.unknown

_1211219299.unknown

_1211219374.unknown

_1211219210.unknown

_1211219230.unknown

